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1.

2.

1. AB = 7 AB P 

AP : PB = 3 : 4 

2. PQ = 10 PQ A 
2
5

PA
PQ

   PA AQ 

3. ABC BC = 6.5 , AB = 4.5 

ACB = 60°.  ABC  

ABC 
4
5  

4. XYZ XY = 5 , YZ = 7 XYZ = 75°.

XYZ ~ XYZ
3
2  

5. 8 5 

3
4  
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6. ABC AB = AC BC = 7

120°  A´B´C´ ~ ABC 

ABC 
1

1
3  

7. PQR Q = 90°, PQ = 6 QR = 8 PQR

~ PQR PQR
2
3

8.

1.5 

9. PQR 5  P´Q´R´ 

 
1

.
´ ´ 2

PQ
P Q  P´Q´ 

10. 4 O  P 

OP = 6 P PA PB 

PA PB

11. AB = 8 AB 

O OPAB P 

12. OP = 3  PQR =45° 

OQ = 5 Q 

13. 3.5 O P 

PA  PB APB = 45°, AOB +

APB 

14. 4 P 
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15. AB = 9 A  B 

5  3 

16. 3.5 O P 

OP = 6 . OP T PQ PR

Q R T AB || QR 

A B PQ PR 

17. 7 

60° 

18. O 3.5 

P Q OP = OQ = 7  PA 

QB 

PQ || AB ?
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